Multiplication de Trois Binomes (A)

Simplifiez chaque expression.

1 (6p® 4 8p*) (Tp + 7)(9p* + 9p?)

20 (B2 9 (=T —AfH(aft - 2f%)

3. (=52° — 524 (—42° — 62%)(42° — 227)

L (2w + 8w?)(—4w* — bw®)(—6w® — 6w?)

Ot

(d* + 9d)(—d* + 4d°)(—6d° — 8d*)

6. (—8p* —2p)(=3p* — 4p*)(—7p° — 4p")

-3

- (8w? + w)(w' — 4w?) (5w’ + 6w?)

8. (6¢ — 2" (=7¢" + 3¢")(2¢ — 5)

9. (=3¢> — 4¢°)(9¢° — 8¢*) (3¢* — 64°)

10 (—=7k° — Tk*) (4K + 9)(8k — 9)
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Multiplication de Trois Binomes (A) Réponses

Simplifiez chaque expression.

- (6p° +8p") (T + T)(9p" + %)
— 378p% + 1260p” + 1386p° + 504p°

—_

\}

B9 (=TF0 — afh(aft = 2f%)
_ _14Of11 o 262f10 + 22f9 4+ 72f8

3. (=52° — 524 (—42° — 62%)(42° — 227)
= 802" + 1602'° + 202" — 602°

- (2w? + 8w?)(—4w* — 5uw?)(—6w® — 6w?)
= 48w + 300w + 492w® + 240w

Ut

(d* + 9d)(—d* + 4d*)(—6d> — 8d*)
= 6d" + 384" — 176d° — 2884°

(@)

- (—8p* — 2p°)(=3p* — 4p°)(—Tp° — 4p")
= —168p"® — 362p** — 208p'! — 32p'°

-J

- (8w? + w)(w' — 4w?) (5w’ + 6w?)
= 40w — 107w — 206w — 24w°

8. (6¢" —2cH(=7¢" + 3c¢*)(2¢ — )
— —84cM + 274" — 172¢° + 3068

9. (—3¢" — 4¢*)(9¢" — 8¢%)(3¢" — 6¢%)
— —81¢"" + 126¢° + 168¢® — 192¢"

10 (=7k° — 7Tk*) (4K + 9)(8k — 9)
= —224k™ — 476k° + 315k° + 567k*
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